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@ A7) Bl 4x6x2=48(cm?)
© Z7|UFe] Bul @ 5x2x4 = 40( cm®)
et @ - © = 48 — 40 = 8(cm?®)
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BEAA ] BIIUE A% 5x5x5 = 125(7H)
2 gwA o BIE A% 1 6x5x 4 = 120(7H)
et AewA] 2t Sy
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@) (6+6)x2x4

@ 6x6x6

® (6x6)x2+ (6x6)x4
@ (6X6+6%x6+6x6)x2

® 6X6+6X6+6X6+6X6+6%X6+6%6
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(A=mAe] Z4lol)
=(bBx5)x2+(B+5+5+5)x7

= 50 4 20 X 7 = 50 + 140 = 190( cm?)




6. T YA=FOl FuE FohAL.

_10cm _ -

>
> ®™E: 570cm?

(9-4)x5=6%5x5=150( cm?)
Ba) = 720 - 150 = 570( cm®)
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> ®eh: 184cm?

(bx4)x2+(5+4+5+4)x8
=40 + 144 = 184( cm?)




Zylo] : 8000cm’
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(35 % 20) X 2+ (20 + 35 4 20 + 35) x || = 8000
1400 + 110 x| ] = 8000
110 x[_] = 6600
l:’ = 60( cm)




